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Abstract

Consider the permutation 7 = (my,...,m,) of 1,2,...,n as being placed on
a circle with indices taken modulo n. For given k < n there are n sums of k£
consecutive entries, and their average is k(n+1)/2. We say the maximum dif-
ference of any consecutive k-sum from this expected value is the discrepancy
of the permutation, and we seek a permutation of minimum discrepancy. We
define the discrepancy measure

u k(n+1
disc(n, k) = min max |()_ ;) — # .
j=1

€8, 1<i<n

We find that in general the discrepancy is small, never more than k + 6,
independent of n. For g := ged(n, k) > 1, we show that disc(n, k) < 7/2. For
g = 1 it is more complicated. Our constructions show that disc(n, k) never
exceeds k/2 by more than 9 for large n, while it is at least k/2 for infinitely
many n. We conjecture the value of the discrepancy to within 1 for general

n, k.
We also give an analysis for the easier case of linear permutations, where we

view the permutation as written on a line. The analogous linear discrepancy
is at most 2 for all n, k.

Key words: permutations, discrepancy, k-sums.



1 Introduction

Is it possible to arrange the integers 1 through n on a circle so that, for
a given k, any sum of k consecutive integers on the circle is close to the
expected value of k(n + 1)/27 We can do remarkably well.

An exercise in the discrete math text by C.L.Liu [2] gives the following
problem for a modified roulette wheel: Show that if numbers 1 through 36
are placed on a wheel in any order, some three consecutive numbers add up
to at least 56.

The average of the 36 numbers is 37/2, so the average of the sums of the
36 consecutive triples is 111/2 = 55.5 for any ordering. Since the sums are
all integer, some triple sums to at least 56.

Not as obvious is whether this value, 56, is best possible. When Liu’s
problem was assigned by one of the authors to a class several years ago,
students were asked to construct a circular permutation of 1 through 36 with
the maximum of the sums of consecutive triples as small as possible. Keith
Morris produced one with maximum just 57. This is optimal, since a more
in-depth analysis shows that 56 is not possible.

The natural extension of the problem is to investigate the minimum, over
all circular permutations of 1 through n, of the maximum sum of any &
consecutive terms. This was the subject of a Master’s thesis by Morris [3],
who determined exact values of the minimum maximum consecutive k-sum
for small n, k, and obtained various bounds in his Master’s thesis [3]. Note
that the minimum maximum consecutive k-sum will always be at least the
average k-sum, k(n + 1)/2. On the other hand, a permutation that achieves
the minimum maximum consecutive k-sum may have k-sums far below the
average. Indeed, this is the case with some of the constructions of Morris.

Here we investigate permutations where all consecutive k-sums are close

to the average. Let S, denote the set of permutations 7 = (my,...,7m,) of
{1,...,n}, viewed circularly, so that indices are always evaluated modulo n.
For k < n we define the discrepancy of m € S,, by
k
. k(n+1)
disc(m, k) == max ;mﬂ- -5

The discrepancy is the minimum absolute difference of the k-sums from their
average. We are here interested in minimizing the discrepancy, so we wish

to compute
disc(n, k) := min disc(m, k).

TI'ESn
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We have succeeded in constructing m with small discrepancy, so that the
consecutive k-sums are all quite close to the average. In fact, for Liu’s roulette
case, Theorem 4 shows that disc(36,3) = 3/2.

Let us begin with a few simple observations. First, the complement of the
terms in a consecutive k-sum form a complementary consecutive (n— k)-sum,
so it suffices to analyze the case that n > 2k, and this is assumed throughout
the paper unless stated otherwise. Second, the discrepancy is strictly positive
for n > k. Third, by looking at the average sum, k(n + 1)/2, we see that the
discrepancy is integer, when k is even or n is odd, while it is a half-integer
(an integer plus 1/2) when £ is odd and n is even.

To analyze the rise and fall of k-sums for a given permutation 7, we define
the n-tuple

d = (dy,ds,...,d,),

where
di =T — Ti—k

is the difference between consecutive k-sums:
di = (Micgs1 + - mi) — (Mg + -+ - Ti1).

Adopting notation for strings, we use a’ to mean the string a is repeated j
times, such as (2, (1, —1)3, —2) for the string (2,1,-1,1,—1,1,—1, —2).
The d;’s give us the following bounds on the discrepancy of m:

Proposition 1

1 t
5 Z < disc(m, k) < made (1)

=S

Proof: Observe that E;ZS f 37@ - — Ele ms—; is the difference be-
tween two k-sums. The ﬁrst inequahty follows, since, at best, the average
k-sum, k(n + 1)/2, lies halfway in between.

The difference between the maximum and minimum consecutive k-sums
is the sum on the right, because we maximize over the choices of s,t. The
average k-sum lies strictly between the minimum and the maximum, which
yields the second inequality. [ |

Consider a permutation = € S,. It is now natural to look at the se-
quence 7, Tiik, Titok, - - - sSince in this order the values of d; are made more



obvious. When the indices are reduced modulo n, what happens depends on
ged(n, k) = g. We obtain g finite loops of length n/g:

IOOp(’L) - (ﬂ-’ia 7Ti+k> e aﬂ-i-i-(n/g—l)k)a 1 S Z S g.

Note that loop(i) occupies the n/g positions m;, T g, Tit2g, - - - Tit(n/g—1)g, DUt
we wish to use the order above. To describe 7, we need to specify the g loops
loop(7).

The results we obtain can be summarized by saying that, apart from the
number theoretic conditions of Theorem 11, we can achieve unexpectedly
small discrepancy. Section 2 contains a number of special constructions. We
show that disc(n,2) = 1 and disc(n,3) < 2. Section 3 provides upper bounds
when n and &k have a common factor. For even k, we find disc(mk, k) = 1, and
for odd k, disc(mk, k) < 2. If g := ged(n, k) is even, we have disc(n, k) < 2,
while for odd g > 1, we have disc(n, k) < 7/2. This section also contains a
pretty number-theoretical lemma that is interesting on its own (Lemma 9).

Section 4 contains the main general results when g := ged(n, k) =
Lower bounds are provided in Theorem 11: Let n = ak + r, where a > 1,
ged(k,r) = 1, and 1 < r < n; Let s,b be the smallest positive integers such
that rs = bk + 1; Then disc(n, k) > %% A special case yielding the largest
lower bound is when n = £1(mod k), in which case disc(n, k) > k/2. Using
the result disc(n,2) = 1, it follows that disc(n, k) = & for such n when k is
even. For ¢ =1 and odd k, we show that disc(n, k) < k+6. In fact, for fixed
odd k and sufficiently large n, disc(n, k) < k/2 + 9. We offer the conjecture
that the lower bound in Theorem 11 may be essentially exact.

In Section 5, we consider the simpler problem of linear discrepancy, re-
stricting to linear permutations (not reducing indices modulo n). As before,
we can define the linear discrepancy of © € S, by

k(n+1) '

ldisc(r, k) := max Zmﬂ 5

0<i<n—k

We must impose the restriction k£ < n for this to make sense. The definition

can be a little suspect since the average of these restricted consecutive k-
n+1) . .

sums may not be == In continuous versions of these k-sums, there can

be interesting countermtuitive examples [1]. We define ldisc(n, k) in analogy

to disc(n, k)

ldisc(n, k) := min ldisc(m, k).

TI'ESn
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We are able to show that for any n, k, the linear discrepancy can be made
extremely small, ldisc(n, k) < 2.

2 Some Special Cases
The following are some special cases with exact or nearly exact bounds.

Theorem 2 Let k be odd. Then disc(2k,k) = 1/2 and disc(3k, k) = 1.

Proof: Note that ¢ = k. First consider the case n = 2k. There will be &
loops loop(7), 1 < i < k, depending on the parity of i, as follows:

loop(25 — 1) = (25 — 1, 2j) loop(2j) = (2k — 25 + 2,2k — 25 + 1).
That is,
= (1,2k,3,2k—2,...,2,2k — 1,4,2k —3,...,k+ 1).
We verify that d = (—1,1,—1,1,...), so that disc(m, k) = 1/2 and so
disc(2k, k) = 1/2.
For the case n = 3k, we again have k loops, with
loop(25—1) = (35—2,35—1, 35) loop(27) = (3k—3j+3,3k—3j+2,3k—3j+1).

We verify that d = ((—2,2)%/2, =2, (1, —=1)*/21 1, (1, -1)*/2] /1), and so
disc(m, k) = 1. This is optimal, as n is odd, so that disc(3k, k) = 1. |

Theorem 3 For n > 3, disc(n,2) = 1.
Proof: For n =2t + 1, let
m=(1,2,3,2t — 2,52t — 4,...,2,2t + 1.
Thus,d = (-1, —1,(2, —2)"/21=1 2) and we get disc(n, 2) = 1, since disc(n, k) >
0 for n > k.
Similarly, for n = 4¢, let = be given by the loops
loop(1) = (1,3,5,7,...,2t — 1,262t — 2,...,4,2)
loop(2) = (4t — 1,4t — 3,4t — 5,46 —7,... 2t + 1,2t +2,2t +4,..., 4t — 2, 4¢).

4



Thus’ d= (_17 _17 (27 _2)(n/4)717 17 17 (_27 2)(n/4)—1)
For n = 4t + 2 let ™ be given by the two loops

loop(1) = (1,3,5,7,...,2t — 1,2t + 1,2t,2t — 2, ..., 4,2)

loop(2) = (4t+1,4t—1,4t—3,4t—5, ..., 2t+3,2t+2, 2t+4,2t4+6 . .., 4t, 4t+2).
Thus, d = (-1, -1, (2, =2)"/4=-1 2 —1, —1,(2, —2)[»/4-1 2). ]

The following theorem nearly solves all cases with & = 3. It gives a
remarkably small upper bound, just 2, on disc(n, 3). For odd n, the average
triple sum is integral, so the discrepancy is also, and it must be either 1 or
2. For even n, it shows that the discrepancy is either 1/2 or 3/2, since the
average triple sum is a half-integer. But a simple argument shows that it
cannot be 1/2 for n > 8, and we get that disc(n,3) = 3/2 for all even n > 8.
We find that disc(6,3) = 1/2 thanks to the permutation = = (1,6, 3,2,5,4).

The roulette wheel example can now be solved! We obtain disc(36,3) =
3/2 from the permutation, obtained from Case 1, 3 divides n, of the proof
below. The permutation is:

(1,18,35,4,16,34,7,15,32, 10,13, 31,12, 14,29, 11, 17, 28,
9,20,26,8,23,25,6,24,27,5,22,30,3,21, 33,2, 19, 36)

Theorem 4 Let n > 6. Then disc(n,3) < 2.

Proof: First consider the case ged(n,3) = 1. There will be a single loop
which, informally, starts at 1, rises by 3’s until it reaches the top, and then
falls back to 2 picking up the missing entries:For n = 1(mod 3),

loop=(1,4,7,....n,n—1,n—2n—4,...,3,2), n=1(mod 3)

loop=(1,4,7,....,n—1,n,n—2,n—3...,3,2), n=2(mod 3).

After placing loop into 7 and computing d we obtain 4 cases:
n=1(mod 6): 7= (1,(n—1)/2,n—1,...)

d= (_17 _27 _17 (37 _17 _17 37 _27 _2)(n—7)/6’ 37 _17 _17 3)7
n=2mod6): == (1,n,n/2—-1,...)
d= (_17 ]-7 _27 (37 _27 _1)(n—5)/3, 37 _1)7



n=4(mod 6): 7= (1,n/2,n—1,...)
d=(-1,-1,-1,(3,-2,—1,3,—1,—2)("=9/6 3y,
n=5(mod 6): m=(l,n,(n—1)/2,...)
d=(-1,1,-1,(3,-2,-2,3,—1,—1)("=9/6 3 _9),

We check that for even n, disc(n,3) < 3/2 and for odd n, disc(n,3) < 2.
For the remainder, suppose 3 divides n. We split this into six cases

modulo 18. In each case we must specify 3 loops loop(i) = ¢, where

o) = (U%i), ag), ...), 1 <i <3, isbuilt from thesets {1,2,...,n/3}, {n/3+
1,n/342,...,2n/3}, {2n/3+1,2n/34+2,...,n}, for 1 <i < 3, respectively.
Each ¢ starts near the bottom, rises by 3’s to near the top and then returns
to the bottom using the remaining symbols. However, for the loops, we rotate
the starting points of the o(?’s to reduce the discrepancy when the three loops
are interwoven. In each case, loop(1) starts at the bottom of its range, with
1, loop(2) starts at the middle of its range, |n/2], and loop(3) starts near
its top, at n — 1. Let f(loop(i)) denote the vector of differences for loop(7),
which consists of n/3 entries. We actually give only this difference vector,
since loop(z) can be inferred easily from this vector and the starting value.
Case 1. n = 18p. We have

f(lOOp(l)) = (_1732p—1’27(_17_2)2;0—1’_1)
f(lOOp(?)) = (_17(_27_1)p—17_271732p—1717(_27_1)1)—17_2)
f(lOOp(3)) = (_17(_17_2)2;0717_172732;071)'

Our choice yieldsd = ((—1)3,(3,-2,—1,3,—1,-2)P"1 3, -2, —-1,2,1, -2, —1,
(3,-1,-2,3,-2,—1)P"1,3,—1,-2,1,2, 1, -2, (3,~2, —1,3, —1, —2)P~L 3), and
we can check disc(m, 3) = 3/2.

Case 2. n = 18p + 3. We have

f(loop(1)) = (—1,3% —1,(—1,—2)*"! —1)
f(oop(2)) = ((-2,-1)?,-1,3%,-1,—1,(-2,-1)P"1))
f(loop(3)) = (—1,(—1,-2)*"1 —1,—-1,3%).

Our choice yields d = (—1,-2,-1,(3,—-1,—-1,3,—-2,-2)P~1 3, —1, -1, 3,
_17 _27 _17 (37 _17 _17 3a _2a _2)p71’ 37 _17 _17 3a _1a 2a _1a
3,—1,—-1,(3,-2,-2,3,—1,—1)?"1 3), and we can check disc(r,3) = 2.

6



Case 3. n = 18p + 6. We have

f(lOOp(l)) = (_1732p’17(_27_1)2p)
f(oop(2)) = ((=1,-2)%,-1,2,3%"1 2 (~1,-2)7)

f(oop(3)) = (—1,(—1,—-2)%*,1,3%).

Our choice yields d = ((—1)3, (3, -2, —1,3,—1,—2)",1,2, —1, -2,

(37 _27 _]-7 37 _17 _2)1)—17 37 _27 _]-7 27 ]-7 _27 _17

(3,—1,-2,3,-2,—1)P71 3 —1,—-2,3) and we can check disc(m,3) = 3/2.
Case 4. n = 18p+ 9. We have

f(]OOp(l)) = (_1’32;0’2’(_1’_2)2177_1)
f(lOOp(Q)) = ((_27_1);0’_2’1’32[)’1’(_2’_1)[)’)
f(lOOp(?))) = (_17(_17_2)2;07_17321)72).

_17 3a _2a _2)p’ 25 1a _1a _1a

Our choice yields d = (—1,—-2,—1, (3, —1,
—1,—1,3)?) and we can check disc(r, 3) =

(37 _27 _27 37 _17 _1)p, ]-7 27 (_27 _27 37
2.
Case 5. n = 18p + 12. We have

f(loop(1)) = (—1,3%%1 —1,(—1,-2)*", 1)
f(oop(2)) = ((—1,-2)?,—1,-1,3%" —1,(—1,—2)F)
f(loop(3)) = (—1,(—1,—2)%,—1,—1,3%"h),

Our choice yields d = (—13,(3,-2,-1,3,—1,-2)?,3, -1, -1, —1,
(3,-2,—1,3,-1,-2)7,3,—1,—1,-1,,(3,—2,—1,3,—1,—2), 3 and we can check
disc(m, 3) = 3/2.

Case 6. n = 18p + 15. We have

f(loop(1)) = (—1,3%*1 1, (=2, —1)%th)
f(loop(2)) = ((—2,—1)"" 2,3 2 (—1,-2)", 1)
f(loop(3)) = (—1,(—1,—2)%*! 1, 3%+,

Our choice yields d = (-1,-2,—1,(3,-1,—-1,3,-2,-2)?,3,—1,—1,1,2,
—2,-2,(3,—1,—1,3,-2,-2)?,2,1,—1, —1,(3,-2,~2,3,~1,~1)?,3) and we
can check disc(r,3) = 2. N

Here is a simple upper bound when £ is factored:

7



Proposition 5 disc(n,pq) < p - disc(n, q).
Proof: A permutation with disc(m,q) = ¢ will have disc(m, pq) < pt. |
Corollary 6 For even k, disc(n, k) < k/2.

Proof: For p = k/2 and ¢ = 2, simply use the permutations 7 given in
Theorem 3. u

3 Bounds When n and £ Have a Common
Factor

As a warm up for the construction in Theorem 8 consider the following.

Theorem 7 Ifk is even, then disc(mk, k) = 1. If k is odd, then disc(mk, k) <
2.

Proof: To construct m we need k loops.

First consider even k. Let o(1),0(2) be loop(1l),loop(2) from the con-
structions in Theorem 3, with n replaced by 2m, depending on the parity
of m. Then, o(1) has the symbols 1,2,...,m, while ¢(2) has the symbols
m+1,m+2,...,2m. Use the notation 1 = (1)™. We define

loop(1) = o(1), loop(2) = o(2),
loop(3) = (4m +1) -1 —0(2), loop(4) =2m -1+ o(2),
loop(5) = (6m +1) -1 —0(2), loop(6) =4m -1+ c(2),

For the resulting 7, compute d partly by using d computed in Theorem 3.
Let i* refer to the vector of k — 1 entries (i, —i,i, —,...) = (i, (—i,1)*/2~1),
For even m,

d=(—1,-1%(2,—2%)m/M=1 1 1% (—2,2%) /-1y,
For odd m,

d=(—1,-1%(2,—2%)m/4=1 o _1* 1, 2%(—2,2") /41y,



We can now check that disc(mk, k) = 1.

For the remainder, assume k is odd. Let n = 3m. Then let o(i), 1 <
i < 3, be the three loops loop(i) from the constructions in the cases, 3
divides n, of the proof of Theorem 4. In particular, o(3) has the numbers
2m +1,2m+2,...,3m. Now define the rest of the loops (for k£ > 3):

loop(4) = (5m +1) -1 —0(3), loop(5) =2m -1+ o(3),
loop(6) = (Tm +1) -1 —0c(3), loop(7) = (4m) -1+ o(3),

We check as before that the discrepancy is bounded as promised. |

here is the main upper bound theorem when ged(n, k) > 1.

Theorem 8 Let g = ged(n, k) and assume g > 1. Then disc(n, k) < 2 for
even g, and disc(n, k) < 7/2 for odd g.

Proof: To give m we need to specify the g loops loop(1),loop(2), ... ,loop(g).
A special permutation o = (01,09, ...,0,/4), satisfying

Oit1 — 0; € {_27 _17 17 2}7
can be given for even n/g by

o=(1,3,5,...,n/g—1,n/g,n/g—2,n/g—4,...,2)

and for odd n/g by

o=(1,3,5,...,n/g,n/g—1,n/g—3,n/g—5,...,2).

Case 1. g is even.

We obtain 7 by placing o+ (In/g)-1 in loop(14-21) and placing (n + 1) - T—
(o +(In/g) - 1) in loop(2 4 21), for 0 < 21 < g —2. We note that 7 is indeed a
permutation of 1,2,...,n, and for odd ¢, m; + m;;1 = n + 1. Thus for any ¢,
2?21 Tary; = k(n+1)/2. Now the entries d; come from successive differences
in a given loop and by construction d; € {—2,—1,1,2}. Hence |d;| < 2. We
deduce disc(m, k) < 2.
Case 2. g is odd.

We begin as in Case 1 by obtaining 7 by placing o+ (In/g)-1 in loop(1+21)
and placing (n+1) -1 — (¢ 4 (In/g) - 1) in loop(2 + 21), for 0 < 21 < g — 3.

9



As above mys4; +Tgsiiv1 = n+1 for odd 7, and i < g —4 and any s. We have
yet to assign the 3n/g numbers j with (¢ —3)/2-n/g <j<(9+3)/2-n/g
into the three loops loop(g —2), loop(g—1),loop(g). We use a special scheme
for k = 3. For odd n/g with 3n/g = 6p + 3 we define

o(1)= 3p+1 3p—2 3p-5 ... 1 2 5 ... 3p—1
o2)= 3 9 15 ... 6p+3 6p 6p—6 ... 6
o(3)= 6p+2 6p—1 6p—5 ... 3p+2 3p+4 3p+7 ... 6p+1

and for even n/g with 3n/g = 6p we define

o(l)= 3p—1 3p—4 3p—T7 ... 2 1 4 ... 3p—2
o(2) = 3 9 15 ... 6p—3 6p 6p—6 ... 6
c(3)= 6p—1 6p—4 6p—7 ... 3p+2 3p+1 3p+4 ... 6p—2

We place (i) + (g — 3)/2- (n/g) - 1 in loop(g — 3 + 1) for 1 < i < 3.

For odd n/g we check that My g—o + Tgsig—1 + Tgstg = 3(n+1)/2. Then
using dgsyo1+1+dgsy212 = 0for 0 < 21 < g—3 and |dgsy| < 2forl <i < g-—3,
and |dgsig—2| and |dgs;g—2+dgs+g-1] are at most 3, we conclude disc(m, k) < 3.

For even n/g, we compute s g2 + Trstg—1 + Thstg = 3(n+1)/2 —1/2
for 0 < s < p—1and mMgeyg o+ Tgsrg-1+ Tgstg = 3(n + 1)/2 4+ 1/2 for
p < s <2p—1. We use Lemma 9 with a = n/g and b = k/g to deduce
that for any s, Z;?ZI Tsg+j 1s either k(n +1)/2+1/2 or k(n + 1)/2 — 1/2.
Knowing that dgsio11 + dgsiare = 0 and |dgsio1] =2 for 0 <21 < g—3
and |dgsig-2| <3, and |dgsig—2 + dgstg—1| < 3 we conclude disc(r, k) < 7/2.
]

The special scheme o(1),0(2),0(3) for k = 3 is not taken from Theorem 4,
but the loops yield a permutation 7w with disc(w,3) < 7/2 (i.e., not enough
for Theorem 4, but where o(1) + ¢(2) + o(3) has special properties.

The following easy lemma shows that a particular construction for placing
1/2’s and —1/2’s around a circle result in low discrepancy for consecutive b-
sums.

Lemma 9 Let a,b be integers with a even, b odd, and gcd(a,b) = 1. Form
a sequence s = (S1,82,...,8q4) with s; = —1/2 if i = e - b(mod a) for 1 <
e < a/2 and s; = 1/2 ifi = e-b(moda) for ¢c/24+1 < e < a. Then
Yt ts; € {=1/2,1/2} for any t where indices are taken modulo a.

10



Proof: The role of k is taken by b. Note that with two exceptions, s; = s;_.
As a result, the numbers d; = s; — s;_ are 0 for all but two values and the
other two values are 1/2, —1/2. The sum of all the entries of s is 0 and so
the sum of all consecutive b-sums is 0. We deduce that half the consecutive
b-sums on s are 1/2 and half are —1/2. [

The following result shows that improvements to Theorem 8 are some-
times possible if disc(n/g, k/g) < 2.

Theorem 10 Let n,k be given with g = ged(n, k) > 1 being odd. Then
disc(n, k) < disc(n/g,k/qg).

Proof: To construct a = € S, with disc(m, k) < disc(n/g,k/g) we start
with a permutation 7 € S,/, with disc(7, k/g) = disc(n/g,k/g). Compute
e = (er,€,...,€n/y) s € = T; — Ti_k/y (Where the indices are taken modulo
n/g). Let 0 = (01,09,...,0,/4) Where ; = Ty i (i—1)k/g- Thus o is the loop
generating 7. We form 7 by specifying g loops:

2 - -
loop(1) =0, loop(2) = (_n +1)-1—0, loop(3)=2n/g-1+o0,
9

4 — —
loop(4) = (_n +1)-1—0, loop(5)=4n/g-1+o0,...
g
If we let a* denote the vector (a,—a,a,—a,...,a) of length g, then we ver-
ify that d computed from 7 has d = (e}, e€3,...,¢€;, /). Thus disc(m, k) =
disc(T, k/g). [

4 Bounds for Relatively Prime n and &

The following theorem identifies cases where non trivial lower bounds can be
established. As we will conjecture later, these bounds may be exact or nearly
so. An easy and important case is where r = s =1 and b = 0.

Theorem 11 Let n, k be given with ged(n, k) =1, n > 2k. Set n = ak +r,
where 1 < r < k—1, and s is the smallest positive integer such that rs =
+1(mod k). Then
k
disc(n, k) > —.
2s
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Proof: For some b > 0, we have rs = bk £ 1. This gives sn = ask +rs =
(as+b)k £ 1. We seek a lower bound on disc(n, k) by seeking lower bounds
on Z;-:s d;. Consider a permutation 7 with m; = 1 and assume 74, = n.
Since (as +b)k = F1(mod n), the p+ 1 entries my, T4k, T142k, - - - T1ipk = N
will be in as + b separate sets of consecutive positions, consecutive in 7. We
deduce from Z§:1 dy4jr = n—1 that for one of the sets of consecutive entries,
say T, Tsi1,-- ., Ty We have

as+b  snFl s s snF1 s s\as+b

Note that for n > 2k, we have a > 2. Then where rs = 1(mod k), we have
=L < % < 1 and where rs = bk — 1, we have b > 1 and 2tL < stL <1,

as+b as+b — 2s+1
In either case, f — % (%) > % Because Z;-:s d; is integral we have
¢ k . ¢ k
>i—sdj > ¢ and in fact 325 d; > h] .
Thus, disc(r, k) > 2 using our bound (1). |
S

Corollary 12 Let n,k be given with k even and n = +1(mod k). Then
disc(n, k) = k/2.

Proof: We use Theorem 11 combined with Corollary 6. ]

The following provides a general upper bound that is surely not tight.
However, in conjunction with Theorem 8, it shows that the discrepancy does
not grow with large n.

Theorem 13 Let k be odd and ged(n, k) = 1. Then
disc(n, k) < k+6.

Moreover for fized k, the given construction shows for n > n,(k) that
) k
disc(n, k) < B +09.

Proof: Consider a permutation 7 € S,,. The infinite sequence 7;, m; g, it ok, - - -
becomes, when the indices are reduced modulo n, a finite ‘loop’ of length n
and so a permutation o € 5,. Thus to specify m we need to specify o. For
n = ak + b with 1 < b < k we construct the permutation o as follows. Infor-
mally, it rises by 3’s for a times and then rises by 2’s until it reaches n and

12



then drops back to 1 picking up the remaining numbers and hence initially
going down by 2’s and then alternating going down by 1’s and 2’s for the last
2a entries. To use up all the numbers 1 through n requires some constant
number of alterations to the pattern. For even n — a we set

o=(1,4,7,...,3a+1,3a+3,3a+5,...,n—1,n,n—2n—4,...

c..y3a+2,3a,3a —1,3a —3,...,5,3,2),

while if n — a is odd, we set
o=(1,4,7,...,3a+1,3a+3,3a+5,...,n—2,n,n—1,n—3,...

...,3a+2,3a,3a—1,3a — 3,...,5,3,2).
We obtain 7 by setting m.;x = 014;. We have 2 cases:

Case 1. n —a is even (and so b is even as well).
We then have

e d; = 3 for the a positionsin 7,2 =1+ k,1+2k,...,n—b+ 1. Note
1+ak=n—-0+1.

e d;, = 2 for the @a%—%z positions ¢ = k—b+1,2k—b+1,..., 1—k+g.

e d; =1 for position ¢ = % + 1.

e d;, = —2 for the @a%—% positionsi:k+%+1,2/€+g+1,---72b_
k+ 1.

e (di,dirx) = (=2,—1) for the a pairs (i,i + k) = (20 + 1,k + 2b +
D, (=2k+1,—k +1).

e d,=—1for:=1.

In general d; = d; 4 or (from the -2,-1 pairs) d; = —d; = d; 9, with
|d;| = 1. Note that the transition positions i where this may not occur are
in positions —b+ 1,1 — k + g, % +1,2b— k+ 1,—k + 1 which are all close to
the 1 position and are in an interval [—k + 1, max{1 + 2,2b — k + 1}] that
has < 2k positions, independently of a.

For Sz = Zf;é Ti4j and Dz = Zf;é di+j, we have Sz — Sifk = Dz For

max{1+ 2,2b—k+1} < i < n— 2k — 2 the terms in the sum D; consist of 1

13



value of 3, (k — 3)/2 values each of 2 and —2, and 2 values from {—2, -2},
{—2,—1} or {—1,—1}. Thus D; = —1,0 or 1. If D; = 0 then D;,4 = 0 and if
D; = +1 then D, , = F1, as long as ¢ + 2k — 1 is in the same range. Hence,
as long as i and ¢ + (j + 1)k — 1 are outside the specified transition range,
Si+jk - SZ = —1,0 or 1.

In the transition range for the strings of d;’s, we have d; — d;_, = —1 in
the 2 cases 3 — 2 and 2 — 1, d; —d;_j, = 1 in the shift (-2, -2) — (-2, 1),
d; — d;_,, = —3 in the shift 1 — —2, and d; — d;_, = 4 in the shift —1 — 3.
Through this transition range we then have |S;,;, —S;| < 5 for j =0,1,2.
Thus, as long as j < a, we have |S;ijx — S;| < 7. In particular, we have
|Sive — S;i| < 7. This is generous, since the differences described tend, more
often than not, to cancel each other.

If S,,S; are the maximum and minimum k-sums, respectively, in m, then
Su— 5 <8, — S¢+ 7, where t = + jk with |j| < a and |u—t]| < g Now,
Sy — S; is a sum of |u — t| of the d;’s, so that |S, — S| < 2Ju —¢t| + 1 < k&,
since in any span of k positions there is at most 1 value d; = 3 and for the
rest |d;] < 2. Thus S, —S; < k + 7 and then the average lies between the
maximum and the minimum.

Case 2. n —a is odd (and b is odd as well).
Now we have

e d; = 3 for the a positions t =1+ k, 1+ 2k,...,n —b+ 1.

o d; = 2 for the % % a4 -1 positions i = k—b+1,2k—b+1,...,—*-b41.
e d; = —1 for position i = &2 + 1.
(k—3) b—3
5 0t 5"

e d; = —2 for the (k;?’)a—i—b_TS positions i = %—H, %—H, oo, 2b—k+1.

e (di,dirx) = (=2,—1) for the a pairs (i,i + k) = (20 + 1,k + 2b +
1),...,(=2k+1,-k+1).

o di=—1fori=1.

The transition positions again occur close to the 1 position within a range
of B2 + 1 — (—k + 1) < 2k positions. A repetition of the argument above
gives S, —5; < k+ 7 as well. This completes Case 2.

14



Now with k fixed and n — oo we use the fact that |(Sky1 + Sk + -+ +
Sor) = (Spk+1 + Spret2 + - - + Spr1)k)| is at most &, for even p, and 0, for odd
p, where p < n/k — 1. Then for large n the k k-sums Sii1, Sgi2, ..., Sox Will
dominate as an estimate for the average for all k-sums since there will only
be 2k sums we are not considering and their values are within k& + 6 of the
average value by our work above. Hence,

k*(n+1
(Sk+1+5k+2+"'+52k)—¥ < k
Thus, the average value of a k-sum among Si1, Sgi2,--., S is within 1 of

k(n+ 1)/2 Now |Sk+i_Sk:+ifl| = |dk+z| S 2 for 2 S 1 S k and |Sk+1_S2k| S
|Sk1— Sokr1| + |Saks1 — Sak| < 143 = 4. This restricts things, remembering
that the average of Sgi1, Ski2, ..., Sz is within 1 of k(n + 1)/2 so that

>_k(n+1) k k(n+1)

k
<—+2, —m1nSk+Z§§+2

<maX Sk 2 -2 2 1<i<k

1<i<k
This could be achieved when the £ k-sums start up by 2’s and then decrease
by 2’s with the indices of the sums considered modulo k. We now deduce
that no k sum is more than 7 away from the k k-sums Sy, 55, ..., Sk by our
previous arguments and so disc(n, k) < k/2 + 9. u

We can now say something about the discrepancy for fixed k£ as n grows,
by applying Theorem 8, Corollary 12, and Theorem 13: disc(n, k) never
exceeds k/2 by more than 9 for large n, while it is at least k£/2 for infinitely
many 7.

The following conjecture suggests that the exact values for the discrep-
ancies may be within reach.

Conjecture 14 Let n,k be given with ged(n,k) = 1. Then the bound of
Theorem 11 s exact in the cases either k is even or both k and n are odd.
In the case k is odd and n is even we believe the bound is off by at most 1.

Computer experiments have been run for £ = 402 and 2011 < n < 2209
and as well for £ = 127 and 382 < n < 507 (for the cases ged(n, k) = 1)
obtaining constructions that support this conjecture. It is reminiscent of
design theory problems in that there seem to always be enough choices to
find a sequence achieving the bound or getting within 1.
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5 Linear Permutations

The case where we view the permutations on a line turns out to be eas-
ier. There are only n — k 4+ 1 consecutive k-sums to consider and there is
no wraparound. The constructions are simpler and there seems to be more
choices that give low discrepancy. Recall that we defined the linear discrep-
ancy ldisc in the Introduction.

Theorem 15 Let n,k be given. Then ldisc(n, k) < 2

Proof: Instead of loops we define m using k strands with strand(i) =
(Tiy Titkey it 2ky - - - Tigpk for 1 < ¢ < k and p = |(n —¢)/k]. Also in place of
d we define d as

a. = (Czl, CZQ, e ,Czn,prl) = (7Tk+1 — Ty Tg+2 — T2y e vy Ty — ank)

where, as for d, we see that d; = (g1 + Tivo + - + Tigg) — (M + mig1 +
o k1)
Case 1. n, k are even.
Let n = ak +r with 0 <r <k —1. Then r is even. If r = 0 we can use
the result from Theorem 7 to achieve discrepancy 1. Assume r > 1. Use the
notation I to denote the vector of 1’s of appropriate size. Define

strand(1) = (1,2,...,a+1)
strand(2) = (n+ 1) 1 — strand(1)
strand(3) = (a+1)-1+ strand(1)
strand(4) = (n+1)-1—strand(3)...
strand(r —1) = (r/2—1)(a+1)- 1 + strand(1)
strand(r) = (n+1)-1—strand(r — 1)
strand(r +1) = ((r/2)(a+1)+1,(r/2)(@a+1)+2,...,(r/2)(a+1) +a)
strand(r + 2) (n+1)-1—strand(r +1),...
strand(k — 1) (((k—=r)/2) =1) -1+ strand(r — 1)
strand(k) = (n+1)-1—strand(k —1)

We verify m+my = m3+my =+ = T 1 +7m, = n+landsom+met- -+
T, =k(n+1)/2. Alsod = (1,—1,1,—1,...,1,—1). Thus ldisc(n, k) =
Case 2. k is even, n is odd.
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Let n = ak + r, where r is odd, 1 < r < k —1. We must be a little
more careful with strand(r), strand(r + 1) which must use the middle 2a + 1
elements. As before we define

strand(1) = (1,2,...,a+1)
strand(2) = (n+1)-1— strand(1)
strand(3) = (a+1)-1 + strand(1)
strand(4) = (n+1)-1 —strand(3),...
strand(r —2) = (r/2—13/2)(a+1)- 1+ strand(1)
strand(r —1) = (n+1)-1 —strand(r — 1)
We define
strand(r +2) = (r/2—1/2)(a+1)-1+(1,2,...,a),
strand(r +3) = (n+41)-1 — strand(r + 2),
strand(r +4) = a-1+ strand(r + 2),
strand(r +5) = (n+1)-1— strand(r + 4), .
strand(k — 1) = (k /2 —r/2-3/2)a- 1+ strand(r + 2),
strand(k) = (n+1)-1— strand(k — 1).

We are left with the 2a+ 1 numbers starting with (r/2—1/2)(a+1)+(k/2—
r/2—1/2)a+1. We set strand(r) = ((r/2—1/2)(a+1)+(k/2—7/2—1/2)a)-
1 + strand(1), strand(r + 1) = ((r/2 4+ 1/2)(a + 1) + (k/2 — r/2 + 1/2)a) -
T+ (—1,-2,...,—a). As above, we verify m 4+ my + - - - 1, = k(n + 1)/2 and
d=(1,-1,1,—1,...,—1). Thus ldisc(n, k) =

The solutions for odd & combine solutions for £ = 3 with solutions for
even k. Where n = ak +r with 0 < r < k — 1 we use constructions from
Theorem 7 when r» = 0 and constructions from Theorem 6 otherwise.

Case 3. n = ak + r, with r even, k odd.

For r = 0, the bounds disc(ak, k) < 3 for even a and < 2 for odd a follow
from Theorem 7. For 2 < r < r — 1, we proceed as in Case 2 for strands 1,
2,...,7—2and strands r+ 2, r+3,...,k:

strand(1) = (1,2,...,a+1),
strand(2) = (n+1)-1 — strand(1)
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strand(3) = (a+ 1)-1+ strand(1),
strand(4) = (n+1)-1—strand(3),...,
strand(r —3) = (r/2-2)(a+1)- 1 4 strand(1),
strand(r —2) = (n+1)-1—strand(r — 1).
Then
strand(r +2) = (r/2—1)(a+1)-1+(1,2,...,a),
strand(r +3) = (n+41)-1— strand(r + 2),
strand(r +4) = a-1+ strand(r + 2),
strand(r +5) = (n+1)-1— strand(r + 4), .
strand(k — 1) = (k:/2 —r/2-3/2)a- 1+ strand(r + 2),
strand(k) = (n+1)-1— strand(k — 1).

We are left with the 3a 4+ 2 numbers starting with (r/2 —1)(a + 1) + (k/2 —
r/2—1/2)a+ 1= ((k—3)a+r—2)/2+ 1. For strands r — 1,7,7 + 1 we
use the permutation ©’ constructed in Theorem 6 for n’ = 3a + 2. There are
two cases depending upon the parity of a. For even a we have n’ = 2(mod
6) and 7' = (1,n,n/2 — 1,...). Then we set

strand(r —1) = (((k—3)a+r—2)/2)-
strand(r) = (((k—3)a+7r—2)/2)-
strand(r +1) = (((k—3)a+r—2)/2)-

+ (7T:,l77r{47 7r”77 .t ')7
+ (7, T,y ),
+ (3, gy - - ).

*—‘l '—‘l '—‘l

For the permutation 7’ we have its vector
d=(-1,1,-2,(3,-2,-1)* 1 3,-1)

and then for the permutation 7, we derive

~ a—1
d= (((17 _1)(7472)/27 37 _27 _17 (17 _1)(1677471)/2) ) (17 _1)(r72)/2’ 37 _1)

Note that for the first k-sum

k

1 k—3 k(n+1
S L) _ 5 )(n+1)+7rr1+7rr+m+l_(”2+)
1
3((k—3 —2)  3(ak 1
= m + 4T+ ( );HT ) 3 +2T+ ) _
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3 ! 3
= 7r1+7r;+7rg—§(3a+3):1+n’+%—1—§(n'+1)
3
5

Checking the d vector, we see that the k-sums will always be within 3/2 of
the average, giving ldisc(n, k) < 3.

For odd a, we have n' = 5(mod 6) and we add (((k — 3)a+r —2)/2) - I to
the permutation 7’ = (1,n/2,n — 1,...) to obtain strands r — 1,7, 4+ 1. For
7" in this case we have

d=(-1,1,-1,(3,-2,-2,3,—1,—1)("=9/6 3 _9),
We obtain ldisc(n, k) < 2.

Case 4. n = ak + r, with r odd, k odd.

We proceed as in the previous case for strands 1, 2,..., r — 1 and strands
r+3, r+4,....k. We are left with the 3a + 1 numbers starting with
(r/2—1/2)(a+ 1)+ (k/2—-7r/2—1)a+1= ((k—3)a+r—1)/2+ 1. For
strands r—1, 7, r+1 we use ((k—3)a+r—1)/2+7r" where 7’ is the permutation
constructed in Theorem 6 for n’ = 3a + 1, with two cases depending upon
the parity of a. We obtain disc(n, k) < 2 for even a and disc(n, k) < % for
odd a.

|
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